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Fill in the blanks :
©O~, )% 4 KA k_200 L ;
500mL 500mL There were 200 nmL of water in the measuring cup

e vere.
# origina
b)) Osokwyppames 300 cnd;

The total volume of O and water 1is ﬂcm%

) O et st :300-200 =100 cm®
The volume of O is

Ol soatas & ® O aym s
Volume of [ ° Volume of O ’
200 ( cm®) 800 ¢ cm® )
@ Team st Qunnr
Volume Ofﬁ ’ Volume of'
500 ( cm® ) 375 ( cm®)
B x1000 x1000
FEIIL' the blanks : m’s ~L3 > em®/ml
PHL e Dianks - 1000 1000
@ 1m3=1000000 cm? @ 4L75mL=_4075 mL
@ 3900cm®= 3.9 L @ 8000mL= 0.008 p3
® s5m3= 5000 ® 60L= 0.06 m?
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Calculating :

v 2
: 0 1lcm
[ P * > .. ' # 1lcm
bem | .- Nen oPr %1cm Tem| .-” Toen e T5en

2lcm 2lcm 28cm 28cm

= w B A ST LR

The volume of §==>: 2205 () The volune of @ . 420 (cm’)
©) § @ §

] ol

12cm ’ 6cm

[Jenme s - 0 st
The volume of D : 288 (C“13) The volume of O . 36 (Cn13)

FETES KA (4 on)

Calculate the unknowns below : (unit: cm)

0,

;é@: 260cm® w@= T2cm’® >
x = bcm y = 4cnm

=l CH-E

10 e 24 5 24
28 28 27 27
@— 840cm® » %) = 432cn’ -
x=10cm y=10cm
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